※Single Choice (1~5, 3% each) (每題恰有一解，答對得3分，答錯得0分)

1. Find the domain of the function 
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2. Find the range of the function 
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3. Which of the following functions is an increasing function on 
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  Select the correct answer.
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  Select the correct answer.
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5. If 
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  Select the correct answer.
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※Single Choice (6~15, 5% each) (每題恰有一解，答對得5分，答錯得0分)

6. If 
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  Select the correct answer.
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  Select the correct answer.
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  Select the correct answer.

	(A). 
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  Select the correct answer.

	(A). 
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11. Find 
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  Select the correct answer.

	(A). 
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12. Find the limit, if it exists. 
[image: image74.wmf]5

5

5

lim

x

x

x

®

-

-

 ,  Select the correct answer.
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13. Find the absolute maximum value of the function  
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Select the correct answer.
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14. Find 
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15. Using the Chain Rule to find 
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Select the correct answer.
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※Multiple Choice (16~20, 7% each) (每題至少有二解，答對得7分，對4錯1得4分，對3錯2得1分，其餘情形得0分)

16. Let 
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 , Select the correct statements.
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17. Which of the following conditions is necessary for a function 
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18. Which of the following functions is differentiable on 
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Select the correct answers.
	(A). 
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19. Which of the following functions has the property 
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Select the correct answers.
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